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RAMAKRISHNA VIVEKANANDA MISSION
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CLASS - VIII

SUB - ENGLISH
Time : 40 Min. F.M. : 25

1. Read the following passage :

Swami Vivekananda was having a long trek in the Himalayas when
he found an old man extreamly exhausted standing hopelessly at

the foot of an upward, slope. The man said to Swamiji in frastation,
“Oh, Sir, how to cross it, | cannot walk anymore : my chest will
break.”

Swamiji listened to the old man patiently and then said, “Look
down at your feet. The road that is under your feet is the road that
you have passed over and is the same road that you see before
you, it will soon be under your feet. These words emboldened the
old man 1o resume his onward trek.

A. Answer the following questions : 3x2=6
i} When and where did Swami Vivekananda find an old man?

il) How was the condition of the old man when Swami Vivekananda
found him?

i) How did Swamiji inspired the old man?

B. State Tor F : Ax1=4
i} Swami Vivekananda found the old man in extreme tiredness.
i) The old man was confident to cross the trek.

iii) Swamiji was impatient to listen to the old man.

iv) The old man could not cross the trek at last.



2. Write a short paragraph : Your Aim in Life 6

3. Write a letter to Editorial of Newspaper on prise rise of essen-
tial commodities. 3

4. Translation : 4x1=4
i) i < ot cATafy 2

i) SR PTG ¢

iii) COTRAT et FeT WS (I 2

iv) WA TR (PR Tz 2
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